1/ do/dM,
H
2

=
o
N

10

Ratio to ALEPH

0.5

91 GeV ee y*/Z (Hadronic)
== LA O L L O L I L B IO B B B =
=1 =
= gy IE
= iﬁiﬂig =
— ﬁ:i-‘i:ﬁ:i: —
— %ﬁﬁ -

%ﬁﬂ
= 9 =
- 5go E
— ii& -
= =S =
— TQ =
— C )oY .
=— oo —=
- mi® 3
— .]3_8_
= ol
= m ALEPH -
| --0-- Herwig++ 2.7.1 default __
= --{3-- Herwig 7.2.0 default =
e e
- go Wi i3
- OOO(DI I,’ \\:' JI. —
- 00 ‘ol N
N 006000 [ ]
o /
== Q@@GO o BaPEEog / .

B gt I e e o

| " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 1 1 " | " 1 " 1 1 1
0 0.1 0.2 0.3

Rivet 3.1.0, = 5.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


